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Divide 150 into two parts such that the sum
of their reciprocals is 3 /112 . Calculate both

the parts.
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5 bottles cost as much as 2 bags. The
cost of 15 bottles and 4 bags is Rs.
2,000. What is the price (in Rs.) of a

sing Ie ba ?

5 Sidd) ﬁoblHd 2 97 foSra-t 81 15

I 3R 4 9 B HIAd 5. 2,000.
T& o B P (3T T) T 27

(a) 200 (b) 215 (c) 240 (d) 250
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Ankit runs 324 metres every day for
his fitness. According to his daily
routine in how many days he covers
8.1 km.

3ifdrd Ut flheag & few g i

324 Hiex a8d 8| U+t feT=raf &
3IER g fobA fai 7 8.1 fob .
1 g3l T DRl 872

(a) 21 (b) 23 (c) 25 (d) 27




.In a fa
there are 42 sheep and 11 oxen with

some s
of feet
of heac

shepherd. ']

Yo ToTH H 48 TGl & 3fard] 42
U 3R 11 971 3R $© TRATE 6 |
gfe ] &t oot T RR &1 T3
T 224 3P g, ?ﬁded g I I
3T HifeTT|

(a) 11 (b) 13 (c) 15 (d) 17

rm, in addition to 48 hens

nepherds. If the total number
ne 224 more than the number

s, find the number of
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A zoo has few numbers of penguins anc
polar bears. The total number of heads
of both of them is 60 and the total
number of their feet is 160. How many
polar bears are there in t1e Z00?

& fIfearer § Ui iR 1 -]
%| Btraﬁésﬁi{ﬁ @?60%?

(a) 20 (b) 40 (c) 60 (d) 0
(SSC CHSL 2017, 23.03.2018 Shift-1)




Sum of four consecutive odd
numbers is 208. Find the largest

number.

IR HHNTd [9uH I3 BT I

208 B | a9 g YT AT |
DI
()55 (b) 57 (c) 59 (d) 61
(b)(SSC CHSL 2017, 14.03.2018
Shift-2)




Find the number of prime factor of 1024.
1024 o YT TUHRS Dl AT I

PioTY

(@) 9 (b) 10 (c) 11 (d) 12




In a two-digit number, its units digit
exceeds its tens digit by 2 and that the
product of the given number and the
sum of its digit is equal to 460. The

number is:

<l 3fhl B YT H, T9D! IR ]
3jch 3HP GBS b 3D 2 3ffth &
3R <t 1T TAT BT UH 3R
Sqch 3! BT TN 460 o SRR g

I ©
(a) 48 (b) 64 (c) 46 (d) 36
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N is the largest two digit number,
which when divided by 3, 4 and 6
leaves the remainder 1, 2, and 4
respectively. What is the remainder
when N is divided by 57

Nl 3! Bl Jed 9o T3 5, ol
3. 4367 fé’lrr?riﬁohw 0R ShH:
1. 23R4V SIAE I TINDBI 5T
TR fpar ST @ Y Avhd
gidl 87

(a)4(b) 2(c)0(d) 1




When the integer n is divided by 7, the
remainder is 3. What is the remainder
|f 5nis d|V|ded by 77

n 1 7 I faurfora fean
Gn?n dl AYBS 3 BT 81 IS 5n
1 7 3 RYfE Far a2, |

YAV T BidT 27
(a) 3 (b) 0 (c) 1 (d) 2




When 12, 16, 18, 20 and 25 divide the

least number x, the remainder in each
case is 4 but x is divisible by 7. What is the
digit at the thousands place in x?

9 12, 16, 18, 20 3R 25 a9 Bl
@uxoblﬁlrrﬁvl?rmﬁ% ?ﬁylcqoh

'@Iﬁrﬁ@W4@ﬂT% AfrTx7T

glnﬁr%l x T TOIR b RIF TR 3{h ]
?

(a) 8 (b) 4 (c) 5 (d) 3 (SSC CGL Tier-Il 2018,

11.09.2019)

ol




The sum of digits of a two digit number is
1 7 of the number. The units digit is 4 less
than the tens digit. If the number

obtained on reversing its digits is divided

by 7. The remainder will be:
ﬁ&mﬂ%wlw&mﬂ!ﬂﬂd% vancal
HT172 PSP 3 TEIR P b
4@?”3%5%0}9 310hlcbldc'1ci'-l R

e ST i 7 I fayTiordg foear sime at
YYHA g

(a) 5 (b) 4 (c) 6 (d) 1 (SSC CGL Tier-11 2018,
11.09.2019)




The remainder when 75 x 73 x 78 x
76 is divided by 34 is:

75 x 73 x 78 x 76 Bl 34 T
?lm%l?r F IR YYH A U gid]

A (a) 15 (b) 22 (c) 18 (d) 12




If 14331433 x 1422 x 1425 is

divided by 12, then what is the
remainder?

TfE 14331433 x 1422 x 1425 D)
12 9 fauriord fear e, ai -]
AV T IT?

(@) 3(b)9(c)8(d)6




If the seven digit number 56 x 34 y
4, is divisible by 72 then what will
be the minimum value of (x +y)?

gfe ITd 3ip! D] TBAT 56 x 34 y 4,
729 faursa 8 @l (x + y) T LAdH
AT T BRTT?

(@) 12 (b) 8 (c) 14 (d) 5 (SSC CPO
2018, 13.03.2019 Shift-1)




If a 9 digit number 32x4115y2 is
divisible by 88, then the value of
(4x —Y) for the smallest possible

value of Y,

g 9 SbIT YT 32x4115y2 88
Y fayrsg &, dl y & GdH FHe

A & oI (4x — v) BT HM,

(a) 31 (b) 20 (c) -1 (d) 11 (SSC CGL
Tier-1 2018, 06.06.2019 Shift-2)




Let x be the least number which when
divided by 15, 18, 20 and 27, the
remainder in each case is 10 and x is a
multiple of 31. What least number
should be added to x to make it a perfect
square? -n

AT x 98 e Sict 91 8 o 15,
18, 20 3R 27 I fayriorg HA W
A% U A AYHE 10 B 8 3MR x
31co|uu\ﬂ%|§@rtpfaﬂq % ToTT
oI T =gAaH el Gﬁ@"r\—rn:f
EFF%Q’?

(a) 39 (b) 37 (c) 43 (d) 36
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SSC GD 2023 (AW ddl bT HTHA)

A man has some hens and cows. If the number of heads h
number of feet = 12 : 35, find out the number of hens, If
the number of heads alone iIs 48.

& T 3R i RR o1 I@:
T e e o X s o
RIX B I=AT 48 B

(1) 28
(2) 26
(3) 24

(4) 22




SSC GD 2023 (AW ddl bT HTHA)

he length of aroad is one kilometer. The number of
plants required for plantation at a gap of 20 meters in
both sides of the road is:

TS® Bl foaiier 81 Is® & I
%Wzoﬁggﬁwq&ngéw%mﬁm
tﬁ%ﬁﬁ'\‘lﬁﬂ%

A e I

(1) 102
(2) 100
(3) 51
(4) 50




Find the number of prime factors in the product of
2512 x 107 x 147
2512 x 107 x 147 IHTSY UH WE DI GET JTd P11y

(1) 50
(2) 52
(3) 51
(4) 54




SSC GD 2023 (AW ddl bT HTHA)

J A certain number when successively divided by 8 and =
11 leaves remainder 3 and 7 respectively. Find the
remainder if the same number is divided by 88.

fafera J= w9 wiHe 0 A 8 ¥ 11 ° faurfoe
2. U 3 3R 7 WY IE STdl 21 Y H! 71 B afe
THTE =T 88 I fauTierd g1
(1) 57
(2) 51
(3) 59
(4) 61




SSC GD 2023 (AW ddl bT HTHA)

A certain number when successively divided by 3, 4
and 8 leaves remainder 1, 2, 3 respectively. Find the
remainders when the same number is divided by
reversing the divisors.

o A3 S o1 wie U ¥ 3, 4 31X 8 A fqunfoa
faT ST §, UM 1, 2, 3 A 9 TP 8 G &b
faurs®l &1 Ide H faurfora forar Srar 8, at saxiy

I P (1) 3, 2,
(2) 4, 1,

(3) 4, 2,
4,

1
1
1
(4)1,4,1




Find the least number of five digit which is
d|V|S|bIeg’X[666.

9 JIdT BT JATd BT Sl 666 I
fAursa g1

(1)
10656
(2)
10665
(3)

- 10O KAR




